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ECONOMIC PRINCIPLES AND
ECONOMIC PROBLEMS OF INDIA

_ PAPER—V
| (Honours & General)
Full Marks : 100
‘ ' “Time : 3 Hours
T|'he figures iﬂ the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Nustrate the answers wherever necessary.

; Group—A
( Economic Principles )
| [ Marks—45 |

1. iAnswer any two questions of the following : 2x3

(a) Explain the law of variable proportion.
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(b} Write three important features of mixed economy.
(c) What is trade cyde? What are its phases?
(d) "Differentiate between returns to factor and returns to
scale.
2. Answer any three questions from the following : 3x8

(a} Discuss the functions of International Monetary
Fund.

(b) How does a monopolist fix price and qualtity to
maximise profit?

(c) Explain briefly the methods of credit control that a
central bank adopts. '

(d} Evaluate socialist and Capitalist economic system,
(e} Savings is always equal to investment — Explain,
(f} Discuss the comparative cost advantage theory of

international trade.

3. Answer any one question from the following : 1x15

(a) Critically explain Marginal Productivity Theory of
distribution,
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(b) Explain the dxfferent methods of measuring national
i income. Briefly explain the functions of Central bank
‘ of a country.

| Group—B
{ Economic Problems of India )
{ Marks—45 ]
4. IJ!an‘wer any two questions of the following : 2x%3
!
(a) What is meant by privatisation?
i(b) What is vicious cycle of proverty?

(c) Give three reasons behind the expansion of private

. sector.
i(d) Distinguish between decentralised planning and
centralised planning.
5. Answer any three questions of the following : 3x8

(a) Evaluate the measurer adopted by the Government to

' control Black Money in India.
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(b) What are the social security measurer for industrial
labour in India?

(c) Write a short note on World Bank.,
(d) What are the reasons behind poverty in India?

(e} What are the major problems faced by the small scale
industries (SSI) in India?

() Write a brief note on Lan Reforms in India.

6. Answer any one question from the following : 1x15

(@) i) Discuss the problems of high growth rate of
population in India.

ii) Analyse the sectoral composition of GNP in India
since 1951 and point out the significance of the
change. - k 7+8

(b} What measures would you take to arrest inflation in
Indian economy ? What is black money ? What steps
the government of Indian has adopted so far to control
black money ? S+3+7

{Internal assessment — 10 marks I
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